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NEW QUESTION 1
A security analyst needs to make a recommendation for restricting access to certain segments of the network using only data-link layer security. Which of the
following controls will the analyst MOST likely recommend?

A. MAC
B. ACL
C. BPDU
D. ARP

Answer: A

NEW QUESTION 2
An organization that is located in a flood zone is MOST likely to document the concerns associated with the restoration of IT operation in a:

A. business continuity plan

B. communications plan.

C. disaster recovery plan.

D. continuity of operations plan

Answer: C

NEW QUESTION 3
A user enters a password to log in to a workstation and is then prompted to enter an authentication code. Which of the following MFA factors or attributes are being
utilized in the authentication process? (Select TWO).

A. Something you know
B. Something you have
C. Somewhere you are
D. Someone you are

E. Something you are

F. Something you can do

Answer: BE

NEW QUESTION 4
A security assessment determines DES and 3DES at still being used on recently deployed production servers. Which of the following did the assessment identify?

A. Unsecme protocols
B. Default settings

C. Open permissions
D. Weak encryption

Answer: D

NEW QUESTION 5
A global pandemic is forcing a private organization to close some business units and reduce staffing at others. Which of the following would be BEST to help the
organization’s executives determine the next course of action?

A. An incident response plan
B. A communications plan

C. A disaster recovery plan
D. A business continuity plan

Answer: D

NEW QUESTION 6

A large industrial system's smart generator monitors the system status and sends alerts to third-party maintenance personnel when critical failures occur. While
reviewing the network logs the company's security manager notices the generator's IP is sending packets to an internal file server's IP. Which of the following
mitigations would be BEST for the security manager to implement while maintaining alerting capabilities?

A. Segmentation

B. Firewall whitelisting
C. Containment

D. isolation

Answer: A

NEW QUESTION 7

A security analyst is performing a packet capture on a series of SOAP HTTP requests for a security assessment. The analyst redirects the output to a file After the
capture is complete, the analyst needs to review the first transactions quickly and then search the entire series of requests for a particular string Which of the
following would be BEST to use to accomplish the task? (Select TWO).

A. head

B. Tcpdump
C. grep
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D. rail
E. curl
F. openssi
G. dd

Answer: AB

NEW QUESTION 8

Several employees return to work the day after attending an industry trade show. That same day, the security manager notices several malware alerts coming from
each of the employee’s workstations. The security manager investigates but finds no signs of an attack on the perimeter firewall or the NIDS. Which of the
following is MOST likely causing the malware alerts?

A. A worm that has propagated itself across the intranet, which was initiated by presentation media
B. A fileless virus that is contained on a vCard that is attempting to execute an attack

C. A Trojan that has passed through and executed malicious code on the hosts

D. A USB flash drive that is trying to run malicious code but is being blocked by the host firewall

Answer: A

NEW QUESTION 9
When used at the design stage, which of the following improves the efficiency, accuracy, and speed of a database?

A. Tokenization
B. Data masking
C. Normalization
D. Obfuscation

Answer: C

NEW QUESTION 10
A security analyst receives the configuration of a current VPN profile and notices the authentication is only applied to the IP datagram portion of the packet. Which
of the following should the analyst implement to authenticate the entire packet?

A. AH

B. ESP
C. SRTP
D. LDAP

Answer: B

NEW QUESTION 10
A recently discovered zero-day exploit utilizes an unknown vulnerability in the SMB network protocol to rapidly infect computers. Once infected, computers are
encrypted and held for ransom. Which of the following would BEST prevent this attack from reoccurring?

A. Configure the perimeter firewall to deny inbound external connections to SMB ports.

B. Ensure endpoint detection and response systems are alerting on suspicious SMB connections.
C. Deny unauthenticated users access to shared network folders.

D. Verify computers are set to install monthly operating system, updates automatically.

Answer: A

NEW QUESTION 12
A symmetric encryption algorithm Is BEST suited for:

A. key-exchange scalability.

B. protecting large amounts of data.
C. providing hashing capabilities,
D. implementing non-repudiation.

Answer: D

NEW QUESTION 13
A security analyst needs to be proactive in understand the types of attacks that could potentially target the company's execute. Which of the following intelligence
sources should to security analyst review?

A. Vulnerability feeds

B. Trusted automated exchange of indicator information
C. Structured threat information expression

D. Industry information-sharing and collaboration groups

Answer: D

NEW QUESTION 15
To secure an application after a large data breach, an e-commerce site will be resetting all users’ credentials. Which of the following will BEST ensure the site’s
users are not compromised after the reset?
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A. A password reuse policy

B. Account lockout after three failed attempts
C. Encrypted credentials in transit

D. A geofencing policy based on login history

Answer: C

NEW QUESTION 18
A Chief Security Office's (CSO's) key priorities are to improve preparation, response, and recovery practices to minimize system downtime and enhance
organizational resilience to ransomware attacks. Which of the following would BEST meet the CSO's objectives?

A. Use email-filtering software and centralized account management, patch high-risk systems, and restrict administration privileges on fileshares.

B. Purchase cyber insurance from a reputable provider to reduce expenses during an incident.

C. Invest in end-user awareness training to change the long-term culture and behavior of staff and executives, reducing the organization's susceptibility to phishing
attacks.

D. Implement application whitelisting and centralized event-log management, and perform regular testing and validation of full backups.

Answer: D

NEW QUESTION 19
A network administrator would like to configure a site-to-site VPN utilizing iPSec. The administrator wants the tunnel to be established with data integrity
encryption, authentication and anti- replay functions Which of the following should the administrator use when configuring the VPN?

A. AH

B. EDR
C.ESP

D. DNSSEC

Answer: C

NEW QUESTION 22

A network engineer has been asked to investigate why several wireless barcode scanners and wireless computers in a warehouse have intermittent connectivity to
the shipping server. The barcode scanners and computers are all on forklift trucks and move around the warehouse during their regular use. Which of the following
should the engineer do to determine the issue? (Choose two.)

A. Perform a site survey

B. Deploy an FTK Imager

C. Create a heat map

D. Scan for rogue access points
E. Upgrade the security protocols
F. Install a captive portal

Answer: AC

NEW QUESTION 25

Users have been issued smart cards that provide physical access to a building. The cards also contain tokens that can be used to access information systems.
Users can log m to any thin client located throughout the building and see the same desktop each time. Which of the following technologies are being utilized to
provide these capabilities? (Select TWO)

A. COPE
B. VDI
C. GPS
D. TOTP
E. RFID
F. BYOD

Answer: BE

NEW QUESTION 29
Phishing and spear-phishing attacks have been occurring more frequently against a company’s staff. Which of the following would MOST likely help mitigate this
issue?

A. DNSSEC and DMARC

B. DNS query logging

C. Exact mail exchanger records in the DNS
D. The addition of DNS conditional forwarders

Answer: C

NEW QUESTION 34
An organization has hired a security analyst to perform a penetration test. The analyst captures 1Gb worth of inbound network traffic to the server and transfer the
pcap back to the machine for analysis. Which of the following tools should the analyst use to further review the pcap?

A. Nmap

B. cURL

C. Netcat

D. Wireshark
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Answer: D

NEW QUESTION 37
Which of the following organizational policies are MOST likely to detect fraud that is being conducted by existing employees? (Select TWO).

A. Offboarding

B. Mandatory vacation
C. Job rotation

D. Background checks
E. Separation of duties
F. Acceptable use

Answer: BC

NEW QUESTION 41
Which of the following should be put in place when negotiating with a new vendor about the timeliness of the response to a significant outage or incident?

A. MOU
B. MTTR
C. SLA
D. NDA

Answer: C

NEW QUESTION 45
Which of the following is a team of people dedicated testing the effectiveness of organizational security programs by emulating the techniques of potential
attackers?

A. Red team
B. While team
C. Blue team
D. Purple team

Answer: A

NEW QUESTION 48

A security audit has revealed that a process control terminal is vulnerable to malicious users installing and executing software on the system. The terminal is
beyond end-of-life support and cannot be upgraded, so it is placed on a projected network segment. Which of the following would be MOST effective to implement
to further mitigate the reported vulnerability?

A. DNS sinkholding

B. DLP rules on the terminal
C. An IP blacklist

D. Application whitelisting

Answer: D

NEW QUESTION 50
The following is an administrative control that would be MOST effective to reduce the occurrence of malware execution?

A. Security awareness training
B. Frequency of NIDS updates
C. Change control procedures
D. EDR reporting cycle

Answer: A

NEW QUESTION 55

A company provides mobile devices to its users to permit access to email and enterprise applications. The company recently started allowing users to select from
several different vendors and device models. When configuring the MDM, which of the following is a key security implication of this heterogeneous device
approach?

A. The most common set of MDM configurations will become the effective set of enterprise mobile security controls.

B. All devices will need to support SCEP-based enroliment; therefore, the heterogeneity of the chosen architecture may unnecessarily expose private keys to
adversaries.

C. Certain devices are inherently less secure than others, so compensatory controls will be needed to address the delta between device vendors.

D. MDMs typically will not support heterogeneous deployment environments, so multiple MDMs will need to be installed and configured.

Answer: C
NEW QUESTION 60
In which of the following situations would it be BEST to use a detective control type for mitigation?

A. A company implemented a network load balancer to ensure 99.999% availability of its web application.
B. A company designed a backup solution to increase the chances of restoring services in case of a natural disaster.
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C. A company purchased an application-level firewall to isolate traffic between the accounting department and the information technology department.
D. A company purchased an IPS system, but after reviewing the requirements, the appliance was supposed to monitor, not block, any traffic.
E. A company purchased liability insurance for flood protection on all capital assets.

Answer: D

NEW QUESTION 62
A researcher has been analyzing large data sets for the last ten months. The researcher works with colleagues from other institutions and typically connects via
SSH to retrieve additional data. Historically, this setup has worked without issue, but the researcher recently started getting the following message:

.........................................................
.........................................................
.........................................................

....................................................

.....................................................

Which of the following network attacks is the researcher MOST likely experiencing?

A. MAC cloning

B. Evil twin

C. Man-in-the-middle
D. ARP poisoning

Answer: C

NEW QUESTION 67
Which of the following scenarios BEST describes a risk reduction technique?

A. A security control objective cannot be met through a technical change, so the company purchases insurance and is no longer concerned about losses from data
breaches.

B. A security control objective cannot be met through a technical change, so the company implements a policy to train users on a more secure method of
operation.

C. A security control objective cannot be met through a technical change, so the company changes as method of operation

D. A security control objective cannot be met through a technical change, so the Chief Information Officer (CIO) decides to sign off on the risk.

Answer: B

NEW QUESTION 71
An organization with a low tolerance for user inconvenience wants to protect laptop hard drives against loss or data theft. Which of the following would be the
MOST acceptable?

A. SED
B. HSM
C.DLP
D. TPM

Answer: A

NEW QUESTION 73
A vulnerability assessment report will include the CVSS score of the discovered vulnerabilities because the score allows the organization to better.

A. validate the vulnerability exists in the organization's network through penetration testing
B. research the appropriate mitigation techniques in a vulnerability database

C. find the software patches that are required to mitigate a vulnerability

D. prioritize remediation of vulnerabilities based on the possible impact.

Answer: D

NEW QUESTION 78

A company's Chief Information Security Officer (CISO) recently warned the security manager that the company’s Chief Executive Officer (CEO) is planning to
publish a controversial option article in a national newspaper, which may result in new cyberattacks Which of the following would be BEST for the security manager
to use in a threat mode?

A. Hacktivists

B. White-hat hackers
C. Script kiddies

D. Insider threats

Answer: A

NEW QUESTION 82
A root cause analysis reveals that a web application outage was caused by one of the company’s developers uploading a newer version of the third-party libraries
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that were shared among several applications. Which of the following implementations would be BEST to prevent the issue from reoccurring?

A. CASB

B. SWG

C. Containerization
D. Automated failover

Answer: C

NEW QUESTION 85
Joe, an employee, receives an email stating he won the lottery. The email includes a link that requests a name, mobile phone number, address, and date of birth
be provided to confirm Joe’s identity before sending him the prize. Which of the following BEST describes this type of email?

A. Spear phishing
B. Whaling

C. Phishing

D. Vishing

Answer: C

NEW QUESTION 87
A company has limited storage available and online presence that cannot for more than four hours. Which of the following backup methodologies should the
company implement to allow for the FASTEST database restore time In the event of a failure, which being maindful of the limited available storage space?

A. Implement fulltape backup every Sunday at 8:00 p.m and perform nightly tape rotations.

B. Implement different backups every Sunday at 8:00 and nightly incremental backups at 8:00 p.m
C. Implement nightly full backups every Sunday at 8:00 p.m

D. Implement full backups every Sunday at 8:00 p.m and nightly differential backups at 8:00

Answer: B

NEW QUESTION 92
The IT department at a university is concerned about professors placing servers on the university network in an attempt to bypass security controls. Which of the
following BEST represents this type of threat?

A. A script kiddie
B. Shadow IT

C. Hacktivism

D. White-hat

Answer: B

NEW QUESTION 96
A security administrator suspects there may be unnecessary services running on a server. Which of the following tools will the administrator MOST likely use to
confirm the suspicions?

A. Nmap

B. Wireshark
C. Autopsy
D. DNSEnum

Answer: A

NEW QUESTION 101
The manager who is responsible for a data set has asked a security engineer to apply encryption to the data on a hard disk. The security engineer is an example
of a:

A. data controller.
B. data owner

C. data custodian.
D. data processor

Answer: D

NEW QUESTION 106

An organization has been experiencing outages during holiday sales and needs to ensure availability of its point-of-sale systems The IT administrator has been
asked to improve both server-data fault tolerance and site availability under high consumer load Which of the following are the BEST options to accomplish this
objective'? (Select TWO)

A. Load balancing

B. Incremental backups
C. UPS

D. RAID

E. Dual power supply
F. NIC teaming

Answer: AD
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NEW QUESTION 109
A recent malware outbreak across a subnet included successful rootkit installations on many PCs, ensuring persistence by rendering remediation efforts
ineffective. Which of the following would BEST detect the presence of a rootkit in the future?

A. FDE
B. NIDS
C. EDR
D. DLP

Answer: C

NEW QUESTION 110
A security administrator checks the table of a network switch, which shows the following output:

g i - - - =
|

Which of the following is happening to this switch?

A. MAC Flooding
B. DNS poisoning
C. MAC cloning

D. ARP poisoning

Answer: A

NEW QUESTION 111
After entering a username and password, and administrator must gesture on a touch screen. Which of the following demonstrates what the administrator is
providing?

A. Multifactor authentication
B. Something you can do

C. Biometric

D. Two-factor authentication

Answer: D

NEW QUESTION 116
A security analyst discovers several .jpg photos from a cellular phone during a forensics investigation involving a compromised system. The analyst runs a
forensics tool to gather file metadata. Which of the following would be part of the images if all the metadata is still intact?

A. The GPS location

B. When the file was deleted

C. The total number of print jobs
D. The number of copies made

Answer: A

NEW QUESTION 119

A cybersecurity manager has scheduled biannual meetings with the IT team and department leaders to discuss how they would respond to hypothetical
cyberattacks. During these meetings, the manager presents a scenario and injects additional information throughout the session to replicate what might occur in a
dynamic cybersecurity event involving the company, its facilities, its data, and its staff. Which of the following describes what the manager is doing?

A. Developing an incident response plan
B. Building a disaster recovery plan

C. Conducting a tabletop exercise

D. Running a simulation exercise

Answer: C

NEW QUESTION 124
A security administrator suspects an employee has been emailing proprietary information to a competitor. Company policy requires the administrator to capture an
exact copy of the employee’s hard disk. Which of the following should the administrator use?

A.dd

B. chmod
C. dnsenum
D. logger

Answer: A
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NEW QUESTION 127
A cybersecurity analyst needs to implement secure authentication to third-party websites without users’ passwords. Which of the following would be the BEST way
to achieve this objective?

A. OAuth
B. SSO
C. SAML
D. PAP

Answer: C

NEW QUESTION 128
A nuclear plant was the victim of a recent attack, and all the networks were air gapped. A subsequent investigation revealed a worm as the source of the issue.
Which of the following BEST explains what happened?

A. A malicious USB was introduced by an unsuspecting employee.
B. The ICS firmware was outdated

C. Alocal machine has a RAT installed.

D. The HVAC was connected to the maintenance vendor.

Answer: A
NEW QUESTION 132

A security analyst receives a SIEM alert that someone logged in to the appadmin test account, which is only used for the early detection of attacks. The security
analyst then reviews the following application log:
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Which of the following can the security analyst conclude?

A. A replay attack is being conducted against the application.

B. An injection attack is being conducted against a user authentication system.

C. A service account password may have been changed, resulting in continuous failed logins within the application.

D. A credentialed vulnerability scanner attack is testing several CVEs against the application.

Answer: C

NEW QUESTION 133

Which of the following policies would help an organization identify and mitigate potential single points of failure in the company’s IT/security operations?
A. Least privilege

B. Awareness training

C. Separation of duties

D. Mandatory vacation

Answer: C

NEW QUESTION 137

A cybersecurity analyst reviews the log files from a web server and sees a series of files that indicates a directory-traversal attack has occurred. Which of the

following is the analyst MOST likely seeing?
A)

I____i___ saacsr. & url. e CEA]
B)
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C)
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A. Option A
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B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 140
A company needs to centralize its logs to create a baseline and have visibility on its security events. Which of the following technologies will accomplish this
objective?

A. Security information and event management
B. A web application firewall

C. A vulnerability scanner

D. A next-generation firewall

Answer: A
NEW QUESTION 142

A cybersecurity administrator needs to add disk redundancy for a critical server. The solution must have a two- drive failure for better fault tolerance. Which of the
following RAID levels should the administrator select?

Ow>
o0

Answer: B

NEW QUESTION 143

A security analyst is reviewing a new website that will soon be made publicly available. The analyst sees the following in the URL:
http://dev-site.comptia.org/home/show.php?session|D=77276554&loc=us

The analyst then sends an internal user a link to the new website for testing purposes, and when the user clicks the link, the analyst is able to browse the website
with the following URL:

http://dev-site.comptia.org/home/show.php?sessionID=98988475&loc=us Which of the following application attacks is being tested?

A. Pass-the-hash

B. Session replay

C. Object deference

D. Cross-site request forgery

Answer: B

NEW QUESTION 146
A company is launching a new internet platform for its clients. The company does not want to implement its own authorization solution but instead wants to rely on
the authorization provided by another platform. Which of the following is the BEST approach to implement the desired solution?

A. OAuth

B. TACACS+
C. SAML

D. RADIUS

Answer: D

NEW QUESTION 149
Local guidelines require that all information systems meet a minimum-security baseline to be compliant. Which of the following can security administrators use to
assess their system configurations against the baseline?

A. SOAR playbook

B. Security control matrix

C. Risk management framework
D. Benchmarks

Answer: D

NEW QUESTION 153
A security analyst is investigation an incident that was first reported as an issue connecting to network shares and the internet, While reviewing logs and tool
output, the analyst sees the following:

- . i i - -

Which of the following attacks has occurred?
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A. IP conflict

B. Pass-the-hash

C. MAC flooding

D. Directory traversal
E. ARP poisoning

Answer: E

NEW QUESTION 155
Which of the following will MOST likely adversely impact the operations of unpatched traditional programmable-logic controllers, running a back-end LAMP server
and OT systems with human-management interfaces that are accessible over the Internet via a web interface? (Choose two.)

A. Cross-site scripting

B. Data exfiltration

C. Poor system logging

D. Weak encryption

E. SQL injection

F. Server-side request forgery

Answer: DF

NEW QUESTION 156
Which of the following scenarios would make a DNS sinkhole effective in thwarting an attack?

A. An attacker is sniffing traffic to port 53, and the server is managed using unencrypted usernames and passwords.

B. An organization is experiencing excessive traffic on port 53 and suspects an attacker is trying to DoS the domain name server.
C. Malware trying to resolve an unregistered domain name to determine if it is running in an isolated sandbox

D. Routing tables have been compromised, and an attacker is rerouting traffic to malicious websites

Answer: A

NEW QUESTION 160
Which of the following cloud models provides clients with servers, storage, and networks but nothing else?

A. SaaS
B. PaaS
C. laaS
D. DaaS

Answer: C

NEW QUESTION 163
A manufacturer creates designs for very high security products that are required to be protected and controlled by the government regulations. These designs are
not accessible by corporate networks or the Internet. Which of the following is the BEST solution to protect these designs?

A. An air gap

B. A Faraday cage

C. A shielded cable

D. A demilitarized zone

Answer: A

NEW QUESTION 167
A software developer needs to perform code-execution testing, black-box testing, and non-functional testing on a new product before its general release. Which of
the following BEST describes the tasks the developer is conducting?

A. Verification

B. Validation

C. Normalization
D. Staging

Answer: A

NEW QUESTION 171

An organization just experienced a major cyberattack modem. The attack was well coordinated sophisticated and highly skilled. Which of the following targeted the
organization?

A. Shadow IT

B. An insider threat

C. A hacktivist

D. An advanced persistent threat

Answer: D

NEW QUESTION 175
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When selecting a technical solution for identity management, an architect chooses to go from an in-house to a third-party SaaS provider. Which of the following
risk management strategies is this an example of?

A. Acceptance
B. Mitigation

C. Avoidance
D. Transference

Answer: D

NEW QUESTION 179
A startup company is using multiple SaaS and laaS platforms to stand up a corporate infrastructure and build out a customer-facing web application. Which of the
following solutions would be BEST to provide security, manageability, and visibility into the platforms?

A. SIEM
B. DLP

C. CASB
D. SWG

Answer: C

NEW QUESTION 180

A security engineer is setting up passwordless authentication for the first time. INSTRUCTIONS

Use the minimum set of commands to set this up and verify that it works. Commands cannot be reused.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.

Commands
S

sp ~/ sshfid rsa user@senver sshisuthornsed_keys

sshrcopy-id i ~/ sshiid_rsa pob user @serves

ssiy 4~/ sshild 156 userEsorver

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Commands
S

s~/ sshfid rsa usesserver: sshisuthoried_keys

suh-copy M |~/ ashyfid_ra pub Lsey @serves

ssh-copy-id i~/ sshikd_rsa.pob user@senves chenod 777 ~f sshiodt s

ssh 4 ~/.sshiid 150 usersorves chmoud 644 ~/ sshild_rsa

NEW QUESTION 185

While checking logs, a security engineer notices a number of end users suddenly downloading files with the .t ar.gz extension. Closer examination of the files
reveals they are PE32 files. The end users state they did not initiate any of the downloads. Further investigation reveals the end users all clicked on an external
email containing an infected MHT file with an href link a week prior. Which of the following is MOST likely occurring?

A. A RAT was installed and is transferring additional exploit tools.

B. The workstations are beaconing to a command-and-control server.
C. Alogic bomb was executed and is responsible for the data transfers.
D. A fireless virus is spreading in the local network environment.

Answer: A

NEW QUESTION 186
A company recently transitioned to a strictly BYOD culture due to the cost of replacing lost or damaged corporate-owned mobile devices. Which of the following
technologies would be BEST to balance the BYOD culture while also protecting the company’s data?

A. Containerization

B. Geofencing

C. Full-disk encryption
D. Remote wipe

Answer: C

NEW QUESTION 191
A security administrator needs to create a RAIS configuration that is focused on high read speeds and fault tolerance. It is unlikely that multiple drivers will fail
simultaneously. Which of the following RAID configurations should the administration use?

A.RA1DO
B. RAID1
C.RAID 5
D. RAID 10

Answer: C

NEW QUESTION 194

An organization is developing a plan in the event of a complete loss of critical systems and data. Which of the following plans is the organization MOST likely
developing?

A. Incident response

B. Communications

C. Disaster recovery

D. Data retention

Answer: C

NEW QUESTION 195
A user recently attended an exposition and received some digital promotional materials The user later noticed blue boxes popping up and disappearing on the
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computer, and reported receiving several spam emails, which the user did not open Which of the following is MOST likely the cause of the reported issue?

A. There was a drive-by download of malware
B. The user installed a cryptominer

C. The OS was corrupted

D. There was malicious code on the USB drive

Answer: D

NEW QUESTION 196

A forensics investigator is examining a number of unauthorized payments the were reported on the company's website. Some unusual log entries show users
received an email for an unwanted mailing list and clicked on a link to attempt to unsubscribe. One of the users reported the email to the phishing team, and the
forwarded email revealed the link to be:

Which of the following will the forensics investigator MOST likely determine has occurred?

A. SQL injection
B. CSRF

C. XSS

D. XSRF

Answer: B

NEW QUESTION 200
Which of the following would be the BEST resource lor a software developer who is looking to improve secure coding practices for web applications?

A. OWASP

B. Vulnerability scan results
C. NIST CSF

D. Third-party libraries

Answer: A

NEW QUESTION 202
A network engineer needs to create a plan for upgrading the wireless infrastructure in a large office Priority must be given to areas that are currently experiencing
latency and connection issues. Which of the following would be the BEST resource for determining the order of priority?

A. Nmapn

B. Heat maps

C. Network diagrams
D. Wireshark

Answer: C

NEW QUESTION 205
A security analyst discovers that a company username and password database was posted on an internet forum. The username and passwords are stored in plan
text. Which of the following would mitigate the damage done by this type of data exfiltration in the future?

A. Create DLP controls that prevent documents from leaving the network
B. Implement salting and hashing

C. Configure the web content filter to block access to the forum.

D. Increase password complexity requirements

Answer: A

NEW QUESTION 209
A technician needs to prevent data loss in a laboratory. The laboratory is not connected to any external networks. Which of the following methods would BEST
prevent the exfiltration of data? (Select TWO).

A. VPN

B. Drive encryption

C. Network firewall

D. File level encryption
E. USB blocker

F. MFA

Answer: BE

NEW QUESTION 212

An engineer wants to access sensitive data from a corporate-owned mobile device. Personal data is not allowed on the device. Which of the following MDM
configurations must be considered when the engineer travels for business?

A. Screen locks

B. Application management
C. Geofencing
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D. Containerization

Answer: D

NEW QUESTION 215
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